HONDACB650R/CBR650R  2019>

STOnri

]

# DESCRIPTION PARTNUMBER | QTY
1 Collettore #1 /Down pipe #1 9773H072CIA 1
2 Collettore #2 / Down pipe #2 9773H072C1B 1
3 Collettore #3 /Down pipe #3 9773H072CIC 1
4 Collettore #4 /Down pipe #4 9773H072C1D 1
5 Tubo diraccordo 2-1/ Link pipe 2-1 9773H072CLE 1
6 Tubo diraccordo 2-1/ Link pipe 2-1 9773H072CLF 1
7 Tubo diraccordo 2-1/ Link pipe 2-1 9773H072C1G 1
8 Tubodiraccordo/ Link pipe 9773H072CIH 1
9 Silenziatore / Muffler GP 1
10 DB killer / DBkiller 50.DK.020.0 1
1 Protezione ingommaper staffa/ Rubber 50.73.040.1 1
12 Staffa/Bracket 50.SS.032.0 1
13 Vite M6 x 12 / Screw M6x12 50.72.024.1 2
14 Rondella M6/ Washer M6 50.72.027.1 4
15 Dado M6 / Nut M6 50.73.146.1 2
16 Vite M8x80/ Screw M8x 80 50.73.072.1 1
17 Rondellain alluminio/ Aluminiumwasher 50.73.063.1 1
18 Distanziale in alluminio / Aluminium spacer 50.5S.095.1 1
19 Dado M8 flangiato / Flanged nut M8 50.73.393.1 2
20 Staffa/Bracket 50.SS.1165.0 1
21 Vite M8x50/ Screw M8x 50 50.73.074.1 1
22 Rondella in alluminio nera/ Black aluminium 50.73.221.1 1
23 Molla media/ Mid-size spring 50.73.359.1 7
24 Molla corta/Short Spring 50.73.123.1 1
25 Gommino per molla/Rubber pipe 50.73.049.0 8

CODE MUFFLER CLAMP PIPE NOTE
74.H072.LXS INOX / ST. STEEL CATALYTICCONVERTER
INOX/ ST.STEEL | INOX/ ST.STEEL ACC.045.A1
74.H.072.LXSB STEEL BLACK NOT INCLUDED
74.H.072.KXS INOX / ST. STEEL CATALYTICCONVERTER
INOX/ ST.STEEL | INOX/ ST.STEEL ACC.045.A
74.H.072.KXSB STEEL BLACK INCLUDED




